
www.electroluxprofessional.com

Spare Part  
Kits
Catalogue 2023

C
us

to
m

er
 C

ar
e





INDEX

Spare Part Kits Catalogue 1





INDEX
Spare Part Kits Catalogue

Spare Part Kits

Oven kits
Oven kits 1

6
Modular Cooking kits

Modular Cooking kits

Dis washing kits
Dis washing kits 7

Maintenance kits

SkyLine Blast Chillers maintenance kits
SkyLine Blast Chillers maintenance kits 16

Dishwashing maintenance kits
Dishwashing maintenance kits 16

SkyLine Ovens maintenance kits
SkyLine Ovens maintenance kits 25

Modular Cooking maintenance kits
Modular Cooking maintenance kits 39

SpeeDelight maintenance kits
SpeeDelight maintenance kits 47

Ovens maintenance kits
Ovens maintenance kits 48

Vacuum Machines maintenance kits
Vacuum Machines maintenance kits 56

Refreshing kits

Refreshing kits for Washing Machines
Refreshing kits for Washing Machines 59

Refreshing kits for Tumble Dryers
Refreshing kits for Tumble Dryers 60





Oven kits

Code Spare Part Description Picture

Boiler Assembly Kit
For electric 6 and 10 1/1 combi steamers AOS Levels A and B - ALL
BRANDS

Code Qt. List of contents
002634 1 Buffer
002692 1 Plug
002874 1 O-ring
007027 1 Clamp
0C4109 1 Boiler insulation
0C4139 1 Boiler
0C4821 1 Flange
0C5309 4 Nut M5x4 - AISI 304
0C5312 4 Washer 5.5x15 - AISI 304
0C5385 1 Clamp
0TT030 1 Screw M5x14

0C5374

Boiler Assembly Kit
For electric 20 2/1 combi steamers AOS Levels A and B - ALL
BRANDS

Code Qt. List of contents
002634 1 Buffer
002692 1 Plug
007027 1 Clamp
0C3128 1 O-ring
0C4142 1 Flange
0C4349 1 Boiler
0C4350 1 Boiler insulation
0C5309 3 Nut M5x4 - AISI 304
0C5312 3 Washer 5.5x15 - AISI 304
0C5333 3 Washer - AISI 316
0C5385 1 Clamp
0L0146 4 Washer 6.6x18 - AISI 304
0TH073 5 Nut. M6x5 - AISI 304

0C5376

Electric Boiler Assembly Kit
For electric 10 GN 1/1 & 2/1 Combi Steamers.
Models: FCV/E 10 1/1 and 2/1 level 3, 4 and 6 Zanussi, Electrolux
Professional, Alpeninox + version JPN and USA; FCS/E 10 1/1 and 2/1
standard and version JPN, 5712-3 (Juno for JPN)

Code Qt. List of contents
002634 1 Boiler buffer
002692 1 Boiler plug
002874 1 O-ring
003945 1 Boiler assembly, electric
005381 1 Flange
006714 1 Boiler insulation, electric
007027 1 Clamp
048126 1 Clamp 13-20
0C4919 1 Rear boiler insulation, electric
0C4921 1 Front boiler insulation, electric
0C5309 3 Hexagon-shaped nut, M5x4 - AISI 304
0C5311 3 screw, M5x15 - AISI 304
0C5312 6 Flat washer - 5.5x15 - AISI 304
0TH044 6 External Washer - 5.3 - AISI 304

0C5344

Spare Part Kits Catalogue

Spare Part Kits

1



Oven kits

Code Spare Part Description Picture

Gas Boiler Assembly Kit
For 10GN 1/1 & 2/1 GAS Combi Steamers
Models: FCV/G 10+20 GN 1/1 and 2/1 level 3, 4 and 6 Zanussi,
Electrolux Professional, Alpeninox and versions JPN 50/60Hz
(Zanussi + Electrolux Professional); FCS/G 10+20 1/1 and 2/1, 5712-2...
and 5714-2…

Code Qt. List of contents
002631 1 Boiler assembly, gas
002634 1 Boiler buffer
002692 1 Boiler plug
002874 1 O-ring
005381 1 Flange
006598 1 Rear boiler insulation, gas
002706 1 Gasket, boiler burner’s box
006599 1 Boiler insulation, gas
007027 1 Clamp
048126 1 Clamp, 13-20
0C5309 4 Hexagon-shaped nut, M5x4 - AISI 304
0C5311 3 Screw, M5x15 - AISI 304
0C5312 6 Flat washer - 5.5x15 - AISI 304
0TH044 6 External Washer - 5.3 - AISI 304

0C5335

Temperature Probe Kit
For out-of-production electronic combi steamers.
Models: FCV/G-E from 6 to 20 2/1, FCS..., 5711..., 5712..., 5714..., 5717...,
all levels and brands

Code Qt. List of contents
002615 1 Temperature probe
002624 1 Gasket
002700 1 Washer
002701 1 Insulator

0C5342

Boiler Heating Element Kit 9kW, 400V
For electric 6 1/1 combi steamers AOS Ovens Levels A and B - All
brands

Code Qt. List of contents
007029 1 O-ring
007030 1 Heating element 9kW, 400V
0TH044 3 Washer 5.3 - AISI 304
0C5309 3 Nut M5x4
0L1934 12 Insulated fast-on

0C5381

Boiler Heating Element Kit 17kW, 400V
For electric 10 1/1 combi steamers AOS Ovens Levels A and B - All
brands

Code Qt. List of contents
007029 1 O-ring
007076 1 Heating element 17 kW, 400V
0TH044 3 Washer 5.3 - AISI 304
0C5309 3 Nut M5x4
0L1934 12 Insulated fast-on

0C5384

Spare Part Kits Catalogue

Spare Part Kits

2



Oven kits

Code Spare Part Description Picture

Boiler Heating Element Kit 9kW, 230V
For electric 6 1/1 combi steamers AOS Ovens Levels A and B - All
brands

Code Qt. List of contents
007029 1 O-ring
007032 1 Heating element 9kW, 230V
0TH044 3 Washer 5.3 - AISI 304
0C5309 3 Nut M5x4
0L1934 12 Insulated fast-on

0C5382

Boiler Heating Element Kit 7kW, 230V
For old electronic combi steamers.
Models: FCV/E 10 1/1 (Zanussi/Electrolux Professional/Alpeninox) +
FCV/E 10 1/1 ACTIVE + FCS/E101/1 lev. 4 and PLUS and models to
Norway and South America + CS10/20-2-3-4.

Code Qt. List of contents
058995 1 Heating element 17kW, 230V
067620 1 O-ring
0E1119 9 Washer 5,3X10 - AISI 304
0TH044 9 Washer 5,3 - AISI 304
0C5309 3 Nut M5x4
0C5487 6 Terminal for screw
0TH049 6 Screw M5x10 - AISI 304
0C3527 6 Plaque

0C5336

Boiler Heating Element Kit 24kW,400V
For old electronic combi steamers.
Models: FCV/E 10 2/1 and 20 1/1 and 2/1 (Zanussi/Electrolux
Professional/Alpeninox) + 5754-3-8/10 + 5717-3-7/8/10 + 5714-3-
7/8/10.

Code Qt. List of contents
002751 1 Heating element 24kW, 400V
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0TH044 3 Washer 5.3 - AISI 304
0C5309 3 Nut M5x4
0L1934 12 Insulated fast-on

0C5337

Boiler Heating Element Kit 24kW, 400V
For electric 10 2/1 + 20 1/1 + 20 2/1 combi steamers AOS Levels A and
B - ALL BRANDS

Code Qt. List of contents
007029 1 O-ring
007101 1 Heating element 24kW, 400V
0TH044 3 Washer 5.3 - AISI 304
0C5309 3 Nut M5x4
0L1934 12 Insulated fast-on

0C5383

Cooking Chamber Heating Element Kit 3.2kW, 400V
For electric 6 1/1 combi steamers AOS Ovens Levels A and B - All
brands

Code Qt. List of contents
002689 1 Gasket for heating element
006984 1 Heating element 3.2kW, 400V
0TH051 2 Screw M5x18 - AISI 304
0C5488 4 Fast-on

0C5362

Spare Part Kits Catalogue

Spare Part Kits

3



Oven kits

Code Spare Part Description Picture

Cooking Chamber Heating Element Kit 8kW, 400V
For electric 10 2/1 and 20 2/1 combi steamers AOS Ovens Levels
A+B+C - All brands

Code Qt. List of contents
002689 1 Gasket for heating element
0C1173 1 Heating element 8kW, 400V
0TH051 2 Screw M5x18 - AISI 304
0C5488 4 Fast-onn

0C5365

Cooking Chamber Heating Element Kit 3.2kW, 230V
For electric 6 1/1 combi steamers AOS Ovens Levels A+B+C - All
brands

Code Qt. List of contents
002689 1 Gasket for heating element
006986 1 Heating element 3.2kW, 230V
0TH051 2 Screw M5x18 - AISI 304
0C5488 4 Fast-on

0C5363

Cooking Chamber Heating Element Kit 5.67kW, 400V
For electric 10 1/1 and 20 1/1 combi steamers AOS Ovens Levels
A+B+C All brands

Code Qt. List of contents
002689 1 Gasket for heating element
007064 1 Heating element 5.67kW, 230V
0TH051 2 Screw M5x18 - AISI 304
0C5488 4 Fast-on

0C5364

Cooking Chamber Lamp Kit
For AOS ovens

Code Qt. List of contents
002626 1 Lamp holder gasket
0C4396 1 Lamp 12V-10W 300°C
0C4459 1 Lamp cap
0C1555 1 Lamp holder
0C5451 1 Silicon washer

0C5334

Inspection Glass Kit
For gas equipment.
Models: old R701, MD700, H900, HD900 and N900 modular cooking
ranges, P1000 range, old electromechanical Combi Steamers and
Convection ovens, old Electronic combi steamers and FCS, old
washing machines (LB8, ...) and old equipment by PCM.

Code Qt. List of contents
057382 1 Frame
057400 1 Inspection glass
057402 1 Gasket
0C5314 2 Screw 4.2x13
0TH043 2 Washer 4.3 - AISI 304

0C5340

Spare Part Kits Catalogue

Spare Part Kits

4



Oven kits

Code Spare Part Description Picture

Wash Manifold Assembly Kit
For gas and electric 10 2/1 combi steamers AOS Ovens - All brands

Code Qt. List of contents
0C1117 2 Non return valve
0C4198 2 Rubber holder
0C4294 1 Manifold
0TT103 2 Clamp

0C5367

Wash Manifold Assembly Kit
For electric 20 2/1 combi steamers AOS Ovens - All brands

Code Qt. List of contents
0C1117 2 Non return valve
0C4198 2 Rubber holder
0C4322 1 Manifold
0TT103 2 Clamp

0C5369

Wash Manifold Assembly Kit
For gas and electric 6 1/1 and 10 1/1 combi steamersAOS Ovens - All
brands

Code Qt. List of contents
0C1117 2 Non return valve
0C4198 2 Rubber holder
0C4246 1 Manifold
0TT103 2 Clamp

0C5366

Wash Manifold Assembly Kit
For gas and electric 20 1/1 combi steamers AOS Ovens - All brands

Code Qt. List of contents
0C1117 2 Non return valve
0C4198 2 Rubber holder
0C4312 1 Manifold
0TT103 2 Clamp

0C5368

Wash Manifold Assembly Kit
For gas 20 2/1 combi steamers AOS Ovens - All brands)

Code Qt. List of contents
0C1117 2 Non return valve
0C4198 2 Rubber holder
0C4328 1 Manifold
0TT103 2 Clamp

0C5370

Boiler Water Level Probes Kit
For electric 10 2/1 and 20 1/1 combi steamers AOS Ovens Levels A
and B - ALL BRANDS)

Code Qt. List of contents
055347 1 Spacer 9mm
003878 2 Water level probe
0C3678 1 Shilded cable for probe

0C5379

Spare Part Kits Catalogue

Spare Part Kits

5



Oven kits

Code Spare Part Description Picture

Boiler Water Level Probes Kit
For old electronic combi steamers.
Models: FCV/G 10 1/1 and 2/1 lev. 3/4/6 (Zanussi, Electrolux
Professional, Alpeninox) + FCS/G 10 1/1 and 2/1 Lev. 3 USA + Lev. 4
STD+ JAP. and ACTIVE PLUS + Juno ovens 5712/4/7-2-8/10.

Code Qt. List of contents
002632 2 Level probe, L = 74mm
002633 1 Spacer level probe, L = 14mm.
0C5309 4 Nut M5x4 - AISI 304
0E1119 12 Washer 5.3x10 - AISI 304
0K8371 1 Bracket
0TH044 4 Washer 5.3 - AISI 304

0C5343

PUMP;KIT; 230V/50HZ 240V/60HZ UL
For all AOS Ovens.

Code Qt. List of contents
0CA112 1 Pump;230V/50Hz 240V/60Hz UL;Cleaning Sy
0CA348 1 Rubber Holder; ø5-1/8'' with O-Ring
005382 1 Grommet; dia.22
0C3473 1 Cable Grommet; Dia 16
0C2309 0.160mt Tube; by Meter

0CB788

Cleaning System Wash Arm Connection Kit
For all the AOS and the old ovens with the cleaning system (all
brands).

Code Qt. List of contents
007074 1 Ring
0C4197 1 Connection

0C5293

Modular Cooking kits

Code Spare Part Description Picture

Boiler Heating Element Kit 3kW 230V
For “Rapid System” pasta cookers

Code Qt. List of contents
047505 1 Heating element for boiler, 3kW, 230V
067620 1 O-ring
0C5317 3 Nut M5x4
0TH044 3 Washer 5.3
0L1934 12 Insulated faston

0C5347

Boiler Thermostat Kit
For “Rapid System” pasta cookers

Code Qt. List of contents
045169 1 Boiler thermostat, 30-90°C
067898 1 O-ring
067899 1 Stuffing box
0C5315 2 Screw M4x8
0C5316 2 Washer 4.3

0C5345

Spare Part Kits Catalogue

Spare Part Kits

6



Modular Cooking kits

Code Spare Part Description Picture

Piezoelectric Igniter Kit
For all the modular cooking ranges (IN and OUT OF PRODUCTION)
+ “electronic” model FCF/G6 e FCV/G6 ISG (1995-2000) + Automatic
gas pasta cooker CR15G and gas fryer with sliding baskets FC1G (ex
PCM)

Code Qt. List of contents
002544 1 Ignition cable, 1000mm.
002605 1 Piezoelectric ingiter
0A5295 1 Ignition cable, 1500mm.

0C5353

Water Level Detecting Pipe Kit
For old round gas/electric indirect boiling pans of the H900 range
and the round and squared HPN/GEI of the range HD900. Brands:
Zanussi, Electrolux Professional and Alpeninox.

Code Qt. List of contents
002923 2 O-ring
059856 1 Water gauge glass tube

0C5352

 kits

Code Spare Part Description Picture

Boiler Assembly Kit
For LS62 STD - LS63 STD and in special versions (F - NL- D - GB -
WHIRPOOL - MEX 60 Hz.)

Code Qt. List of contents
048222 1 Strap
048447 1 Insulation
048484 1 Boiler; 2 element
048887 1 Thermostat/klixon
048987 1 Bracket
0E5372 1 Nut M5

0L1639

Boiler Assembly With Vertical Heating Elements
For Rack-Type (models RT 100-140- 190-270 / WT 95-100-140-150-
190-200-270) up to the serial no. 028...; for models RT 10 and WT 90
up to serial no. 004.

Code Qt. List of contents
049763 2 Protection
0C5333 9 Washer 6.4 - AISI 304
0K7106 2 Clip
0E5067 1 Boiler
0E5534 1 Flange for the hearing element
0E5541 2 Boiler insulation
0TH073 9 Nut M6x5

0L1855

Spare Part Kits Catalogue

Spare Part Kits

7



Code Spare Part Description Picture

Boiler Assembly Kit With Horizontal Heating Elements
For Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190- 200-270) up to the serial no. 028...; for models RT 10 and WT 90
up to serial no. 004.

Code Qt. List of contents
048126 2 Clip
048222 2 Clip
048447 1 Boiler insulation
0E5372 6 Nut with flange M5 - AISI 304
0E5954 1 Boiler

0L1856

Boiler Thermostat Kit; 3kW, 230V
For WT1+WT2/cCH e DP, LS61, WT32+WT33+WT34/4.5kW, LS7/9kW,
LS8/9kW.

Code Qt. List of contents
048927 1 Boiler heating element 3kW, 230V
067620 1 O-ring
0E5372 3 Nut M5
0L1934 12 Insulated fast-on

0L1634

Boiler Heating Element Kit; 4.5kW, 220V
For old LS36 +LS500 (round basket) + LS540 (squared basket) +
LS360 + LS365 + LS860 + LO250 + indirect heated electric boiling
pans (R701 and MD700 ranges - all brands).

Code Qt. List of contents
065557 1 Heating element 4.5kW, 220V
065560 1 Cap cover for heating element
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1874

Boiler Heating Element Kit; 4.5kW, 230V
For all Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190-200-270 from serial number 029...) and models RT 10 and WT 90

Code Qt. List of contents
047847 1 Heating element 4.5kW, 230V
067620 1 O-ring, 5.34x47
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1849

Boiler Heating Element Kit; 4.5kW, 240VOld LS500 (round basket) +
LS365+ LS860 + LO250 + indirect-heated
electric boiling pans (R701 and MD700 ranges - all brands) - UK
VERSION

Code Qt. List of contents
045518 1 Heating element 4.5kW, 240V
065560 1 Cap cover for heating element
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1875

Spare Part Kits Catalogue

Spare Part Kits

Dis washing kits

8



Dis washing kits

Code Spare Part Description Picture

Boiler Heating Element Kit; 4KW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95-100-140-150-190-200-270 up to serial
number 028…). Models RT 10 and WT 90 excluded

Code Qt. List of contents
0E5037 1 O-ring
0K8250 1 Heating element; 4kW, 230V
0L1934 12 Insulated fast-on

0L1833

Boiler Heating Element Kit; 4.5kW, 220V
For indirect-heated electric boiling pans (R701 and MD700 ranges -
all brands) + LS540 (squared basket) + LS860/F/PH/DK + LS861 +
LS32

Code Qt. List of contents
049307 1 Heating element 4.5kW, 220V with bulb holder
065560 1 Cap cover for heating element
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1876

Boiler Heating Element Kit; 6kW, 200V
For all Rack-Type dishwashers for the Japanese market (models RT
100-140-190-270 / WT 95-100-140-150-190-200-270 up to serial
number 028...)and Models RT 10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0E5536 1 Heating element 6kW, 200V
0L1934 12 Insulated fast-on

0L1840

Boiler Heating Element Kit; 6kW, 230V (without probe holder)
For the electric squared-jacketed boiling pans and automatic pasta
cookers (H900 - all brands) + LS1080UK + old mechanical rack-type
DW’s (electric models CT092-140-141-142-190-191-192-240-
241DX/SX) + mechanic-controlled potwashers LO480E + RT10 +
RT180 (with vertical boiler heaters) + RT100 to 270 with horizontal
boiler heaters.

Code Qt. List of contents
049116 1 Heating element 6kW, 230V
065560 1 Cap cover for heating element
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1878

Boiler Heating Element Kit; 6kW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95- 100-140-150-190-200-270 up to serial number 028…). Models RT
10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0K8249 1 Heating element 6kW, 230V
0L1934 12 Insulated fast-on

0L1834

Spare Part Kits Catalogue

Spare Part Kits

9



Code Spare Part Description Picture

Boiler Heating Element Kit; 6kW, 230V (with probe holder)
For electric round + squared-jacketed boiling pans and automatic
pasta cookers (H900 - all brands) + LS1080/F/PH/D + old
mechanical rack-type DW’s (electric models CT092DX/SX).

Code Qt. List of contents
051632 1 Heating element 6kW, 230V
065560 1 Cap cover for heating element
067620 1 O-ring
0E1119 3 Washer 5.3x10 - AISI 304
0E5372 3 Nut with flange M5
0L1934 12 Insulated fast-on

0L1877

Boiler Heating Element Kit; 8kW, 230V
For all Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190-200-270 from serial number 029...) and models RT 10 and WT 90.

Code Qt. List of contents
067620 1 O-ring
0E5372 3 Nut with flange, M5
0E5955 1 Heating element 8kW, 230V
0L1934 12 Insulated fast-on

0L1851

Boiler Heating Element Kit; 10kW, 200V
For all Rack-Type dishwashers for the Japanese market (models RT
100-140-190-270 / WT 95-100-140-150-190-200-270 up to serial
number 028.) and RT 10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0E5538 1 Heating element 10kW, 200V
0L1934 12 Insulated fast-on

0L1842

Boiler Heating Element Kit; 10kW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95-100-140-150-190-200-270 up to serial number 028…) and models
RT 10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0E5066 1 Heating element 10kW, 230V
0L1934 12 Insulated fast-on

0L1836

Boiler Heating Element Kit; 8kW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95-100-140-150-190-200-270 up to serial number 028…). Models RT
10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0E5113 1 Heating element 8kW, 230V
0L1934 12 Insulated fast-on

0L1835

Spare Part Kits Catalogue

Spare Part Kits

Dis washing kits

10



Dis washing kits

Code Spare Part Description Picture

Boiler Heating Element Kit; 8kW, 254/440V
For all Rack-Type MARINE dishwashers (models RT 100-140-190-270
/ WT 95-100-140-150-190-200-270 up to serial number 028…). Models
RT 10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0KP364 3 Heating element 8kW, 254/440V
0L1934 12 Insulated fast-on

0L1845

Boiler Heating Element Kit; 10kW, 254/440V
For all Rack-Type MARINE dishwashers (models RT 100-140-190-270
/ WT 95-100-140-150-190-200-270 up to serial number 028…) and RT
10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0KP337 1 Heating element 10kW, 254/440V
0L1934 12 Insulated fast-on

0L1846

Boiler Heating Element Kit; 12kW, 200V
For all Rack-Type dishwashers forthe Japanese market (models RT
100-140-190-270 / WT95-100-140-150-190- 200-270 up to serial
number 028...) and RT 10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0E5539 1 Heating element 12kW, 200V
0C5487 6 Terminal for screw

0L1843

Boiler Heating Element Kit; 12kW, 230V
For all Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190-200-270 from serial number 029…) and RT 10 and WT 90 from
serial number 005.

Code Qt. List of contents
067620 1 O-ring
0E5372 3 Nut with flange M5
0E5956 1 Heating element 12kW, 230V
0L1935 12 Insulated fast-on

0L1853

Boiler Heating Element Kit; 10.5kW, 230V
For all Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190-200-270 from serial number 029…) and RT 10 and WT 90 from
serial number 005.

Code Qt. List of contents
067620 1 O-ring, 5.34x47
0E5372 3 Nut with flange, M5
0E5953 1 Heating element 10.5kW, 230V
0L1935 12 Insulated fast-on

0L1852

Spare Part Kits Catalogue

Spare Part Kits

11



Code Spare Part Description Picture

Boiler Heating Element Kit; 12kW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95-100-140-150-190-200-270 up to serial number 028…) and RT 10
and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0E5116 1 Heating element 12kW, 230V
0L1934 12 Insulated fast-onn

0L1837

Boiler Heating Element Kit; 12kW, 254/440V
For all Rack-Type MARINE dishwashers (models RT 100-140-190-270
/ WT 95-100-140-150-190-200-270 up to serial number 028…) and RT
10 and WT 90 up to serial number 004.

Code Qt. List of contents
0E5037 1 O-ring
0KP335 3 Heating element 12kW, 254/440V
0C5487 1 Terminal for screw

0L1847

Boiler Heating Element Kit; 14kW, 200V
For all Rack-Type dishwashers for the Japanese market (models RT
100-140-190-270 / WT 95-100-140-150-190-200-270 up to serial
number 028...) Models RT 10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0E5540 1 Heating element 14kW, 200V
0C5487 12 Terminal for screw

0L1844

Boiler Heating Element Kit; 14kW, 230V
For all Rack-Type (models RT 100-140-190-270 / WT 95-100-140-150-
190-200-270 from serial number 029...)and RT 10 and WT 90.

Code Qt. List of contents
067620 1 O-ring
0E5372 3 Nut with flange M5
0E5957 1 Heating element 14kW, 230V
0L1935 12 Insulated fast-on

0L1854

Tank Heating Element; 7.5kW, 230V
For models RT100 (lev. 1), RT140/190/240 (lev. 2), RT10 (Asia, ROW),
RT180, RT3000, RT1800 (lev.1)/2500+3400+48000 (lev. 2) and
LV1800/2500/3400/48000.

Code Qt. List of contents
0E5037 1 O-ring
0E5161 1 Heating element 7.5kW, 230V
0H2562 5 Nut with flange M6
0C5487 6 Terminal for screw

0L1859

Boiler Heating Element Kit; 14kW, 230V
For all Rack-Type dishwashers (models RT 100-140-190-270 / WT
95-100-140-150-190-200-270 up to serial number 028…). Models RT
10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0E5117 1 Heating element 14kW, 230V
0L1935 12 Insulated fast-onn

0L1838

Spare Part Kits Catalogue

Spare Part Kits

Dis washing kits

12



Dis washing kits

Code Spare Part Description Picture

Boiler Heating Element Kit; 14kW, 254/440V
For all Rack-Type MARINE dishwashers (models RT 100-140-190-270
/ WT 95-100-140-150-190-200-270 up to serial number 028…). Models
RT10 and WT 90 excluded.

Code Qt. List of contents
0E5037 1 O-ring
0KP363 3 Heating element 14kW, 254/440V
0L1935 12 Insulated fast-on

0L1848

Tank Heating Element; 9kW, 230V
For models RT10, WT200 (lev. 2 + 3), WT90, WT270 (lev. 2 + 3),
H512/522 (lev. 2 + 3), RT180, RT4800 (lev. 1), LV180.

Code Qt. List of contents
0E5037 1 O-ring
0E5163 1 Heating element 9kW, 230V
0H2562 5 Nut with flange M6
0C5487 6 Terminal for screw

0L1860

Tank Heating Element; 12kW, 230VFor models RT10 (China), WT95
(lev. 1), WT100/150/200 (lev. 2+3),
RT140/190 (lev. 2 + 3), WT90 (China + ROW). WT140/190/270 (lev. 2 +
3).

Code Qt. List of contents
0E5037 1 O-ring
0E5162 1 Heating element 12kW, 230V
0H2562 6 Nut with flange M6
0C5487 6 Terminal for screw

0L1861

Rinse Pump kit, 50Hz
For LS6E, LU7, LS9, WT30E, WTU40, WT55 with atmospheric boiler;
LS10A-14EA, WT65E, PW1M-2M, WT830M-850M, WT830EA-850EA.

Code Qt. List of contents
0G1698 2 Screw
0L1079 1 Pump 220/240V, 50Hz
0L1108 1 Sleeve
0L1118 1 Pump support

0L1640

Rinse Pump kit, 60Hz
For LS6E, LU7, LS9, WT30E, WTU40, WT55 with atmospheric boiler;
LS10A-14EA, WT65E, PW1M-2M, WT830M-850M, WT830EA-850EA.

Code Qt. List of contents
0G1698 2 Screw
0L1100 1 Pump 220/240V, 60Hz
0L1108 1 Sleeve
0L1118 1 Pump support

0L1641

Pump Suction Filter Kit
For LS5, WT4, LS6, WT30, WT38, LS7 (without drain pump).

Code Qt. List of contents
046799 2 O ring
048323 1 Pipe
048324 1 Pump suction filter

0L1631

Spare Part Kits Catalogue

Spare Part Kits

13



Code Spare Part Description Picture

Pump Suction Filter Kit
For LS5 - WT4 - LS6 - WT30 - WT38 -LS7 (with drain pump).

Code Qt. List of contents
046799 1 O ring
048324 1 Pump suction filter
048842 1 Drain pipe

0L1632

Drain Manifold Kit
For LS5 - WT4 - LS6 - WT30 - WT38- LS7.

Code Qt. List of contents
046595 1 Gasket
046596 1 Plug
048325 1 Drain manifold
048326 1 Nut
048327 1 O ring

0L1629

Lower Jet Support Kit
For LS6, LS7, LS8 (all brands) and ECOTEMP7.

Code Qt. List of contents
048236 1 Gasket
048330 1 Nut
048401 1 Hub for jets
048819 1 Support for lower jets
048820 1 Shutter
048979 1 Snap ring

0L1628

Drain Manifold Kit
For old electromechanic dw. LS510 -LS520 (PNC 5010…, 7271…).

Code Qt. List of contents
046799 1 O-ring
047456 1 Strainer
047457 1 Manifold
047458 1 O ring
047460 1 Drain pipe
0E1119 6 Washer
0E5372 6 Nut M5

0L1638

Drain Pipe Kit
For old RT100/140/180/270 models (all brands).

Code Qt. List of contents
0E0112 1 O-ring
0E5372 4 Nut with flange M5
0K7046 1 Drain connection

0L1862

Boiler Thermostat Kit
For LS5, LS6, LS7 e LS8, LS10, LS12, LS720, LS860 e LS1080 and all
branded old rack types CT92-142.

Code Qt. List of contents
0L1947 2 Screw M4x6 - AISI 304
049243 2 Boiler thermostat; 30-90 °C, adjust.
067898 1 O-ring
067899 1 Stuffing box
0TH043 1 Washer 4.3 - AISI 304

0L1633

Spare Part Kits Catalogue

Spare Part Kits

Dis washing kits

14



Dis washing kits

Code Spare Part Description Picture

Overflow Pipe Kit
For RT100/140/180/270 models (all brands).

Code Qt. List of contents
0E0010 1 O-ring
0E0141 1 Gasket
0E5152 1 Snap ring

0L1863

Overflow Pipe Kit
For RT100/140/180/270 models (all brands).

Code Qt. List of contents
0E0142 1 O-ring
0E5020 1 Drainer closer

0L1880

Drain kit
For Hood type, all models and for PPW1.

Code Qt. List of contents
0L2729 1 Air valve
0L2841 1 Drain hose
0L2842 1 Darin hose

Dimensions:
External hose = 2m
Internal = 900 mm long

0L4835

Spare Part Kits Catalogue

Spare Part Kits

15



SkyLine Blast Chillers maintenance kits

Code Spare Part Description Picture

Skyline/Rapido ChillS 30 kg; 3rd, 6th and 9th visits
For BCF lenghtwise touch UI 30kg Electrolux Professional and
Zanussi, at the 3rd, 6th and 9th visits.

Code Qt. List of contents
095985 1 Door gasket
095939 2mt Isolation hose
095938 2mt Isolation hose
095989 0,5mt Anti condense tube
095165 1 Cable clamp
096156 3 Screw 4,8x70

096166

Skyline/Rapido ChillS 50 kg; 3rd, 6th and 9th visits
For BCF lenghtwise touch UI 50kg Electrolux Professional and
Zanussi, at the 3rd, 6th and 9th visits.

Code Qt. List of contents
095986 1 Door gasket
095939 2mt Isolation hose
095938 2mt Isolation hose
095989 0,5mt Anti condense tube
095165 1 Cable clamp
096156 4 Screw 4,8x70

096167

Skyline/Rapido ChillS 70 kg; 3rd, 6th and 9th visits
For BCF lenghtwise touch UI 70kg Electrolux Professional and
Zanussi, at the 3rd, 6th and 9th visits.

Code Qt. List of contents
095987 1 Door gasket
095939 2mt Isolation hose
095938 2mt Isolation hose
095989 0,5mt Anti condense tube
095165 1 Cable clamp
096156 5 Screw 4,8x70

096168

Dishwashing maintenance kits

Code Spare Part Description Picture

HT8; every 12 month
HT8 - All Models except integrated Det/RinseAid/Delime Pumps
The suggested frequency of substitution is once a year according to
an average duty cycle of about 25.000 cycles per year. The
frequency may increase or decrease depending on the higher or
lower number of washing cycles and on the daily care assured by
the user in cleaning, descaling and operating the unit.

Code Qt. List of contents
049418 1 Rinse aid dispenser hose
49460 1 O-ring; Øi=53,65mm; Øe=58,89mm
49480 1 Ring nut; for air gap
0L2539 1 O-ring; ØI=32,99x2,62 mm

0L4325

Spare Part Kits Catalogue

Maintenance kits

16



Dishwashing maintenance kits

Code Spare Part Description Picture

HT8; every 36 month
HT8 - All Models except integrated Det / Rinse Aid /Delime Pumps
The suggested frequency of substitution is the third, the sixth, the
nineth year according to an average duty cycle of about 25.000
cycles per year. The frequency may increase or decrease
depending on the higher or lower number of washing cycles and on
the daily care assured by the user in cleaning, descaling and
operating the unit.

Code Qt. List of contents
0L5076 1 Rinse aid dispenser hose
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049480 1 Ring nut; for air gap
049828 1 O-ring; Øi=50mm; Øe=59,5mm
049894 1 O-ring; Øi=110x4mm;
0L2303 2 O-ring; dia.9,25x1,78
0L2539 1 O-ring; ØI=32,99x2,62 mm
0L2874 2 NTC probe
0S2285 1 Peristaltic pump for rinse

0L4326

HT8G; every 12 month
HT8G - Models with Integrated Detergent/Rinse Aid/Delime Pumps.
The suggested frequency of substitution is once a year according to
an average duty cycle of about 25.000 cycles per year. The
frequency may increase or decrease depending on the higher or
lower number of washing cycles and on the daily care assured by
the user in cleaning, descaling and operating the unit.

Code Qt. List of contents
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose; with joints
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049480 1 Ring nut; for air gap
0L2539 1 O-ring; ØI=32,99x2,62 mm

0L4327

HT8G; every 36 month
HT8G - Models with Integrated Detergent/Rinse Aid/Delime Pumps.
The suggested frequency of substitution is the third, the sixth, the
nineth year according to an average duty cycle of about 25.000
cycles per year. The frequency may increase or decrease
depending on the higher or lower number of washing cycles and on
the daily care assured by the user in cleaning, descaling and
operating the unit.

Code Qt. List of contents
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose; with joints
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049480 1 Ring nut; for air gap
049828 1 O-ring; Øi=50mm; Øe=59,5mm
049894 1 O-ring; Øi=110x4mm;
0L2303 2 O-ring; dia.9,25x1,78
0L2539 1 O-ring; ØI=32,99x2,62 mm
0L2729 1 Air valve
0L2841 1 Drain hose
0L2874 2 NTC probe
0S1986 1 Peristaltic pump detergent; pg3
0S2285 1 Peristaltic pump for rinse

0L4328

Spare Part Kits Catalogue

Maintenance kits

17



Dishwashing maintenance kits

Code Spare Part Description Picture

LS5/LS6; every 12 month - Full
All Undercounters LS5 and LS6.
The suggested frequency of substitution is once a year according to
an average duty cycle of about 20.000 cycles per year. The
frequency may increase or decrease depending on the higher or
lower number of washing cycles and on the daily care assured by
the user in cleaning, descaling and operating the unit. Additioned
with airgab protection (code 0L2560+049480).

Code Qt. List of contents
046799 1 O-ring; for overflow pipe
047473 4 O-ring; Øi=14mm; Øe= 17,56mm
048531 1 Rubber hose; Øi=12mm; Øe=19,5mm;by meter
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose; with joints
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049480 1 Ring nut; for air gap
049828 1 O-ring; Øi=50mm; Øe=59,5mm
049856 1 Drain pipe; l=1600mm.
049878 1 Hose
049894 1 O-ring; Øi=110x4 mm
068642 1 O-ring; Øi=15,54x2,62
0L0021 1 Gasket; l=592mm
0L2560 1 Protection
0L2765 1 O-ring; 5,34x47,00 mm; silicon

0L4436

LS5/LS6; every 12 month - Standard
All Undercounters LS5 and LS6.
The suggested frequency of substitution is once a year according to
an average duty cycle of about 20.000 cycles per year. The
frequency may increase or decrease depending on the higher or
lower number of washing cycles and on the daily care assured by
the user in cleaning, descaling and operating the unit. Standard kit
without airgab protection.

Code Qt. List of contents
046799 1 O-ring; for overflow pipe
047473 4 O-ring; Øi=14mm; Øe= 17,56mm
048531 1 Rubber hose; Øi=12mm; Øe=19,5mm;by meter
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose; with joints
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049828 1 O-ring; Øi=50mm; Øe=59,5mm
049856 1 Drain pipe; l=1600mm.
049878 1 Hose
049894 1 O-ring; Øi=110x4 mm
068642 1 O-ring; Øi=15,54x2,62
0L0021 1 Gasket; l=592mm
0L2765 1 O-ring; 5,34x47,00 mm; silicon

0L4437

Spare Part Kits Catalogue

Maintenance kits

18



Dishwashing maintenance kits

Code Spare Part Description Picture

LS5/LS6; every 12 month - Basic
All Undercounters LS5
The suggested frequency of substitution is once a year according to
an average duty cycle of about 20.000 cycles per year. The
frequency may increase or decrease depending on the higher or
lower number of washing cycles and on the daily care assured by
the user in cleaning, descaling and operating the unit. Minimum
requirements.

Code Qt. List of contents
046799 1 O-ring; for overflow pipe
047473 4 O-ring; Øi=14mm; Øe= 17,56mm
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose; with joints
049460 1 O-ring; Øi=53,65mm; Øe=58,89mm
049828 1 O-ring; Øi=50mm; Øe=59,5mm
049894 1 O-ring; Øi=110x4 mm
068642 1 O-ring; Øi=15,54x2,62

0L4438

Undercounter/utensils washers chemical hose kit
For all Rack Type SINGLE RINSE models and undercounter/utensils
washer.

Code Qt. List of contents
0L5076 1 Rinse aid dispenser hose
0L5078 1 Detergent dispenser hose with joints
0L0481 1 Tube; L=2660 mm, ØE=6 MM; BLU
0L1163 1 Hose; ØI=4,3MM; ØE=6MM; L=2660MM; grey

0L4684

DW SRT YEAR 1–KIT
Single rinse Rack Type all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L2304 1 O-ring; dia.56.52X5.33
0L2306 2 O-ring; dia.17,3X2,4
0L3932 2 Sealing ring

0L4778

DW SRT YEAR 2–KIT
Single rinse Rack Type all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1275 1 Glide shoe; Newrt
0L2174 8 Washer
0L2304 1 O-ring; Dia.56.52X5.33
0L2306 1 O-ring; Dia.17,3X2,4
0L2520 4 Roller
0L2521 4 Disc
0L2522 4 Snap ring
0L3932 2 Sealing ring

0L4779

Spare Part Kits Catalogue

Maintenance kits

19



Dishwashing maintenance kits

Code Spare Part Description Picture

DW SRT DRYER YEAR 2–KIT
DRYER of Single rinse Rack Type all models; every 24 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L2174 8 Washer
0L2520 4 Roller
0L2521 4 Disc
0L2522 4 Snap ring

0L4780

LS5/LS6 all models; every 12 months.
The suggested frequency of
substitution is once a year according to an average duty cycle of
about 20.000 cycles per year.
The frequency may increase or decrease depending on the higher
or lower number of washing cycles and on the daily care assured
by the user in cleaning, descaling and operating the unit.

Code Qt. List of contents
047578 1 CLAMP; 26-38
048126 1 CLIP; 13-20
048845 1 DRAIN HOSE
0L5076 1 RINSE AID DISPENSER HOSE
0L5078 1 DETERGENT DISPENSER HOSE; WITH JOINTS
049460 1 O-RING; ØI=53,65MM; ØE=58,89MM
049480 1 RING NUT; FOR AIR GAP
049643 1 TEMPERATURE PROBE
049828 1 O-RING; ØI=50MM; ØE=59,5MM
0L0098 1 AIR TRAP; BOILER
0L0481 1 TUBE; L=2660 MM; ØE=6 MM; BLU
0L1163 1 HOSE; ØI=4,3MM; ØE=6MM; L=2660MM; GREY
0L2303 1 O-RING; DIA.9,25X1,78
0L2666 1 AIR GAP
0L3447 1 SOLENOID VALVE; 220/240V 50/60HZ;5L/MIN.

0L4685

Spare Part Kits Catalogue

Maintenance kits

20



Dishwashing maintenance kits

Code Spare Part Description Picture

Front load utensils washer; every 12 months.
The suggested frequency of
substitution is once a year according to an average duty cycle of
about 20.000 cycles per year.
The frequency may increase or decrease depending on the higher
or lower number of washing cycles and on the daily care assured
by the user in cleaning, descaling and operating the unit.

Code Qt. List of contents
047578 1 CLAMP; 26-38
048126 1 CLIP; 13-20
048845 1 DRAIN HOSE
0L5076 1 RINSE AID DISPENSER HOSE
0L5078 1 DETERGENT DISPENSER HOSE; WITH JOINTS
049460 1 O-RING; ØI=53,65MM; ØE=58,89MM
049480 1 RING NUT; FOR AIR GAP
049643 1 TEMPERATURE PROBE
049828 1 O-RING; ØI=50MM; ØE=59,5MM
0L0098 1 AIR TRAP; BOILER
0L0481 1 TUBE; L=2660 MM; ØE=6 MM; BLU
0L1163 1 HOSE; ØI=4,3MM; ØE=6MM; L=2660MM; GREY
0L2303 1 O-RING; DIA.9,25X1,78
0L2666 1 AIR GAP
0L3446 1 SOLENOID VALVE; 1-WAY;220-240V 50-60 HZ

0L4686

Dual rinse Rack Type 44"/66"/79"; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L4797 1 GASKET OR 57.99X5.33 SILICONE
0L3932 4 SEALING RING
0L3892 4 SNAP RING
0L2306 4 O-RING; DIA.17,3X2,4

0L5081

Dual rinse Rack Type 44"; every 24 month
The suggested frequency of substitution is every two years
according to an average duty cycle of about 150.000 racks
processed per year. The frequency may increase or decrease
depending on the higher or lower number of processed racks and
on the daily care assured by the user in cleaning, descaling and
operaing the unit.

Code Qt. List of contents
0L4797 1 GASKET OR 57.99X5.33 SILICONE
0L3932 2 SEALING RING
0L3892 4 SNAP RING
0L2306 4 O-RING; DIA.17,3X2,4
0L1275 1 GLIDE SHOE; NEWRT
0L2520 4 ROLLER
0L2174 8 WASHER
0L2521 4 DISC
0L2522 4 SNAP RING

0L5082

Spare Part Kits Catalogue

Maintenance kits

21



Dishwashing maintenance kits

Code Spare Part Description Picture

Dual rinse Rack Type 66"/79"; every 24 month
The suggested frequency of substitution is every two years
according to an average duty cycle of about 150.000 racks
processed per year. The frequency may increase or decrease
depending on the higher or lower number of processed racks and
on the daily care assured by the user in cleaning, descaling and
operaing the unit.

Code Qt. List of contents
0L4797 1 GASKET OR 57.99X5.33 SILICONE
0L3932 4 SEALING RING
0L3892 4 SNAP RING
0L2306 4 O-RING; DIA.17,3X2,4
0L1275 1 GLIDE SHOE; NEWRT
0L2520 8 ROLLER
0L2174 16 WASHER
0L2521 8 DISC
0L2522 8 SNAP RING

0L5083

Pre-Wash 22"/Pre-Wash 35" Multi and Dual Rinse Rack Type; every
12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L3932 2 SEALING RING
0L3892 2 SNAP RING

0L5084

Pre-Wash 22"/Pre-Wash 35" Multi and Dual Rinse Rack Type; every
24 months.
The suggested frequency of substitution is every two years
according to an average duty cycle of about 150.000 racks
processed per year. The frequency may increase or decrease
depending on the higher or lower number of processed racks and
on the daily care assured by the user in cleaning, descaling and
operaing the unit.

Code Qt. List of contents
0L3932 2 SEALING RING
0L3892 2 SNAP RING
0L2520 4 ROLLER
0L2174 8 WASHER
0L2521 4 DISC
0L2522 4 SNAP RING

0L5085

Spare Part Kits Catalogue

Maintenance kits

22



Dishwashing maintenance kits

Code Spare Part Description Picture

HAB/DRYER 22"/DRYER 35" Multi and Dual Rinse Rack Type; every
24 months.
The suggested frequency of substitution is every two years
according to an average duty cycle of about 150.000 racks
processed per year. The frequency may increase or decrease
depending on the higher or lower number of processed racks and
on the daily care assured by the user in cleaning, descaling and
operaing the unit.

Code Qt. List of contents
0L2520 4 ROLLER
0L2174 8 WASHER
0L2521 4 DISC
0L2522 4 SNAP RING

0L5086

HT8 - All Models; every 24 months.
The suggested frequency of substitution is every two years
according
to an average duty cycle of about 25.000 cycles per year.
The frequency may increase or decrease depending on the higher
or lower number of washing cycles and on the daily care assured
by the user in cleaning, descaling and operating the unit.

Code Qt. List of contents
047578 3 CLAMP; 26-38
0L0481 1 TUBE; L=2660 MM; ØE=6 MM; BLU
0L1163 1 HOSE; ØI=4,3MM; ØE=6MM; L=2660MM; GREY
0L2303 1 O-RING; DIA.9,25X1,78
0L2729 1 AIR VALVE
0L2841 1 DRAIN HOSE
0L2842 1 DRAIN HOSE
0L2874 2 NTC PROBE
0L3450 1 SOLENOID VALVE; 220 240V 50/60HZ;5L/MIN.
0L5044 1 KIT AIR-GAP AIR-TRAP; HT
0L5076 1 RUBBER HOSE
0L5078 1 RUBBER HOSE RINSE

0L5185

Multi rinse Rack Type 100/150 R/H; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1711 5 PLUG; FOR WASH ARM
0L2306 6 O-RING; DIA.17,3X2,4
0L2309 6 O-RING; DIA.26,65X2,62
0L2359 4 O-RING; ØI=32,99X2,62 MM
0L3892 6 SNAP RING
0L3932 6 SEALING RING
0L4797 3 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5210

Spare Part Kits Catalogue

Maintenance kits

23



Dishwashing maintenance kits

Code Spare Part Description Picture

Multi rinse Rack Type 200/250/300 R/H; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1711 10 PLUG; FOR WASH ARM
0L2306 12 O-RING; DIA.17,3X2,4
0L2309 12 O-RING; DIA.26,65X2,62
0L2359 8 O-RING; ØI=32,99X2,62 MM
0L3892 12 SNAP RING
0L3932 12 SEALING RING
0L4797 6 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5211

Multi rinse Rack Type 100/150 R/H; every 24 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1275 1 GLIDE SHOE; NEWRT
0L2174 24 WASHER
0L2306 4 O-RING; DIA.17,3X2,4
0L2520 12 ROLLER
0L2521 12 DISC
0L2522 12 SNAP RING
0L3892 6 SNAP RING
0L3932 6 SEALING RING
0L4797 1 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5212

Multi rinse Rack Type 200 R/H; every 24 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1275 1 GLIDE SHOE; NEWRT
0L2174 32 WASHER
0L2306 4 O-RING; DIA.17,3X2,4
0L2520 16 ROLLER
0L2521 16 DISC
0L2522 16 SNAP RING
0L3892 8 SNAP RING
0L3932 8 SEALING RING
0L4797 1 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5213

Spare Part Kits Catalogue

Maintenance kits

24



Dishwashing maintenance kits

Code Spare Part Description Picture

Multi rinse Rack Type 250 R/H; every 24 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 1500.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1275 1 GLIDE SHOE; NEWRT
0L2174 40 WASHER
0L2306 8 O-RING; DIA.17,3X2,4
0L2520 20 ROLLER
0L2521 20 DISC
0L2522 20 SNAP RING
0L3892 8 SNAP RING
0L3932 8 SEALING RING
0L4797 2 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5214

Multi rinse Rack Type 300 R/H; every 24 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 150.000 racks processed per year.
The frequency may increase or decrease depending on the higher
or lower number of processed racks and on the daily care assured
by the user in cleaning, descaling and operaing the unit.

Code Qt. List of contents
0L1275 1 GLIDE SHOE; NEWRT
0L2174 48 WASHER
0L2306 8 O-RING; DIA.17,3X2,4
0L2520 24 ROLLER
0L2521 24 DISC
0L2522 24 SNAP RING
0L3892 8 SNAP RING
0L3932 8 SEALING RING
0L4797 2 GASKET OR 57.99X5.33 SILICONE
0S2121 1 DETERGENT DISPENSER HOSE;6,25X10,65MM

0L5215

SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 6 GN 1/1; gas/electric with/without boiler
12th and 24th month visit
For Oven 10 GN 1/1 gas/electric with/without boiler - All brands - at
the 12th and 24th month visits (equivalent to 3200 and 6400 working
hours).
For Oven GN 1/1 electric with/without boiler - All brands - at the
48th month visit (equivalent to 12800 working hours)

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket

0CK362

Spare Part Kits Catalogue

Maintenance kits

25



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 6 GN 2/1; gas/electric with/without boiler
12th and 24th month visit
For Oven 6 GN 2/1 gas/electric with/without boiler - All brands - at
the 12th and 24th month visits (equivalent to 3200 and 6400 working
hours).
For Oven GN 2/1 electric with/without boiler - All brands - at the
48th month visit (equivalent to 12800 working hours)

Code Qt. List of contents
0CK121 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket

0CK361

Skyline/Magistar Oven 10 GN 1/1; gas/electric with/without boiler
12th and 24th month visit
For Oven 10 GN 1/1 gas/electric with/without boiler - All brands - at
the 12th and 24th month visits (equivalent to 3200 and 6400 working
hours).
For Oven GN 1/1 electric with/without boiler - All brands - at the
48th month visit (equivalent to 12800 working hours)

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket

0CK360

Skyline/Magistar Oven 10 GN 2/1; gas/electric with/without boiler
12th and 24th month visit
For Oven 10 GN 2/1 gas/electric with/without boiler - All brands - at
the 12th and 24th month visits (equivalent to 3200 and 6400 working
hours).
For Oven GN 2/1 electric with/without boiler - All brands - at the
48th month visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK223 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket

0CK363

Spare Part Kits Catalogue

Maintenance kits

26



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 6 GN 1/1; gas/electric with/without boiler
36th month visit
For Oven 6 GN 1/1 gas/electric with/without boiler - All brands - at
the 36th month visit (equivalent to 9600 working hours).

Code Qt. List of contents
0CK222 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK143 1 Locking mechanism
0CK087 1 Cylinder for tabs
0CK322 1 Plug

0CK366

Skyline/Magistar Oven 6 GN 2/1; gas/electric with/without boiler
36th month visit
For Oven 6 GN 2/1 gas/electric with/without boiler - All brands - at
the 36th month visit (equivalent to 9600 working hours).

Code Qt. List of contents
0CK121 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK143 1 Locking mechanism
0CK087 1 Cylinder for tabs
0CK322 1 Plug

0CK365

Skyline/Magistar Oven 10 GN 1/1; gas/electric with/without boiler
36th month visit
For Oven 10 GN 1/1 gas/electric with/without boiler - All brands - at
the 36th month visit (equivalent to 9600 working hours).

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK143 1 Locking mechanism
0CK087 1 Cylinder for tabs
0CK322 1 Plug

0CK364

Spare Part Kits Catalogue

Maintenance kits

27



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 10 GN 2/1; gas/electric with/without boiler
36th month visit
For Oven 10 GN 2/1 gas/electric with/without boiler - All brands - at
the 36th month visit (equivalent to 9600 working hours).

Code Qt. List of contents
0CK223 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK143 1 Locking mechanism
0CK087 1 Cylinder for tabs
0CK322 1 Plug

0CK367

Skyline/Magistar Oven 6 GN 1/1; gas without boiler - 48th month
visit
For Oven 6 GN 1/1 gas without boiler - All brands - at the 48th
month visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK222 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 1 Flame control device

0CK372

Skyline/Magistar Oven 6 GN 1/1; gas with boiler - 48th month visit
For Oven 6 GN 1/1 gas with boiler - All brands - at the 48th month
visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK222 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 2 Flame control device

0CK373

Skyline/Magistar Oven 6 GN 2/1; gas without boiler - 48th month
visit
For Oven 6 GN 2/1 gas without boiler - All brands - at the 48th
month visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK121 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 1 Flame control device

0CK370

Spare Part Kits Catalogue

Maintenance kits

28



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 6 GN 2/1; gas with boiler - 48th month visit
For Oven 6 GN 2/1 gas with boiler - All brands - at the 48th month
visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK121 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 2 Flame control device

0CK371

Skyline/Magistar Oven 10 GN 1/1; gas without boiler - 48th month
visit
For Oven 10 GN 1/1 gas without boiler - All brands - at the 48th
month visit (equivalent to 12800 working hours),

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 1 Flame control device

0CK368

Skyline/Magistar Oven 10 GN 1/1; gas with boiler - 48th month visit
For Oven 10 GN 1/1 gas with boiler - All brands - at the 48th month
visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 2 Flame control device

0CK369

Skyline/Magistar Oven 10 GN 2/1; gas without boiler - 48th month
visit
For Oven 10 GN 2/1 gas without boiler - All brands - at the 48th
month visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK223 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 1 Flame control device

0CK374

Spare Part Kits Catalogue

Maintenance kits

29



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 10 GN 2/1; gas with boiler - 48th month visit
For Oven 10 GN 2/1 gas with boiler - All brands - at the 48th month
visit (equivalent to 12800 working hours).

Code Qt. List of contents
0CK223 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0C4260 2 Flame control device

0CK375

Skyline/Magistar Oven 6 GN 1/1; gas/electric with/without boiler
60th month visit
For Oven 6 GN 1/1 gas/electric with/without boiler - All brands - at
the 60th month visit (equivalent to 16000 working hours).

Code Qt. List of contents
0CK222 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK193 1 Drain valve
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK156 1 Pump (220-240V 50/60HZ)

0CK378

Skyline Oven 6 GN 2/1; gas/electric with/without boiler 60th month
visit
For Oven 6 GN 2/1 gas/electric with/without boiler - All brands - at
the 60th month visit (equivalent to 16000 working hours).

Code Qt. List of contents
0CK121 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK193 1 Drain valve
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK156 1 Pump (220-240V 50/60HZ)

0CK377

Skyline/Magistar Oven 10 GN 1/1; gas/electric with/without boiler
60th month visit
For Oven 10 GN 1/1 gas/electric with/without boiler - All brands - at
the 60th month visit (equivalent to 16000 working hours).

Code Qt. List of contents
0CK120 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK193 1 Drain valve
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK156 1 Pump (220-240V 50/60HZ)

0CK376

Spare Part Kits Catalogue

Maintenance kits

30



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 10 GN 2/1; gas/electric with/without boiler
60th month visit
For Oven 10 GN 2/1 gas/electric with/without boiler - All brands - at
the 60th month visit (equivalent to 16000 working hours).

Code Qt. List of contents
0CK223 1 Door gasket
0CK226 1 Air filter
0CK195 1 Non-return valve
0CK323 1 Bushing
0CK193 1 Drain valve
0CK119 2 Spark plug gasket
0CK115 2 Burner gasket
0CK116 2 Burner gasket
0CK156 1 Pump (220-240V 50/60HZ)

0CK379

Skyline/Magistar Oven 20 GN 1/1; electric with/without boiler
12th/24th/48th month visit (equivalent to 3200/6400/12800 working
hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK497 1 DOOR GASKET 20 1/1

0CK763

Skyline Oven 20 GN 2/1; electric with/without boiler 12th/24th/48th
month visit (equivalent to 3200/6400/12800 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK548 1 DOOR GASKET 20 2/1

0CK770

Spare Part Kits Catalogue

Maintenance kits

31



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline Oven 20 GN 1/1; gas with/without boiler 12th/24th month visit
(equivalent to 3200/6400 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK497 1 DOOR GASKET 20 1/1

0CK771

Skyline/Magistar Oven 20 GN 2/1; gas with/without boiler 12th/24th
month visit (equivalent to 3200/6400 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK548 1 DOOR GASKET 20 2/1

0CK772

Skyline Oven 20 GN 1/1; gas with/without boiler 36th month visit
(equivalent to 9600 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK087 1 CYLINDER FOR TABS
0CK322 1 CUP TANK ASSEMBLY
0CK497 1 DOOR GASKET 20 1/1

0CK773

Spare Part Kits Catalogue

Maintenance kits

32



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline Oven 20 GN 2/1; gas with/without boiler 36th month visit
(equivalent to 9600 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK087 1 CYLINDER FOR TABS
0CK322 1 CUP TANK ASSEMBLY
0CK548 1 DOOR GASKET 20 2/1

0CK774

Skyline/Magistar Oven 20 GN 1/1; gas without boiler 48th month visit
(equivalent to 12800 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0C4260 2 FLAME CONTROL DEVICE
0CK497 1 DOOR GASKET 20 1/1

0CK775

Skyline/Magistar Oven 20 GN 2/1; gas without boiler 48th month
visit (equivalent to 12800 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0C4260 2 FLAME CONTROL DEVICE
0CK548 1 DOOR GASKET 20 2/1

0CK776

Spare Part Kits Catalogue

Maintenance kits

33



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 20 GN 1/1; gas with boiler 48th month visit
(equivalent to 12800 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0C4260 3 FLAME CONTROL DEVICE
0CK497 1 DOOR GASKET 20 1/1

0CK777

Skyline/Magistar Oven 20 GN 2/1; gas with boiler 48th month visit
(equivalent to 12800 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0C4260 3 FLAME CONTROL DEVICE
0CK548 1 DOOR GASKET 20 2/1

0CK778

Skyline/Magistar Oven 20 GN 1/1; gas with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB250 1 BOILER DRAIN VALVE
0CK497 1 DOOR GASKET 20 1/1

0CK779

Spare Part Kits Catalogue

Maintenance kits

34



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 20 GN 2/1; gas with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB250 1 BOILER DRAIN VALVE
0CK548 1 DOOR GASKET 20 2/1

0CK780

Skyline/Magistar Oven 20 GN 1/1; electric with/without boiler 36th
month visit (equivalent to 9600 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK087 1 CYLINDER FOR TABS
0CK322 1 CUP TANK ASSEMBLY
0CK497 1 DOOR GASKET 20 1/1

0CK781

Skyline/Magistar Oven 20 GN 2/1; electric with/without boiler 36th
month visit (equivalent to 9600 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK087 1 CYLINDER FOR TABS
0CK322 1 CUP TANK ASSEMBLY
0CK548 1 DOOR GASKET 20 2/1

0CK782

Spare Part Kits Catalogue

Maintenance kits

35



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 20 GN 1/1; electric with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB250 1 BOILER DRAIN VALVE
0CK497 1 DOOR GASKET 20 1/1

0CK783

Skyline/Magistar Oven 20 GN 2/1; electric with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB250 1 BOILER DRAIN VALVE
0CK548 1 DOOR GASKET 20 2/1

0CK784

Skyline/Magistar Oven 20 GN 1/1 USA; gas with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB251 1 BOILER DRAIN VALVE
0CK497 1 DOOR GASKET 20 1/1

0CK785

Spare Part Kits Catalogue

Maintenance kits

36



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 20 GN 2/1 USA; gas with/without boiler 60th
month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK119 3 IGNITION ROD GASKET
0CK569 1 IGNITION ROD GASKET
0CK115 3 BURNER GASKET 20 1/1
0CK116 3 BURNER GASKET 20 2/1
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB251 1 BOILER DRAIN VALVE
0CK548 1 DOOR GASKET 20 2/1

0CK786

Skyline/Magistar Oven 20 GN 1/1 USA; electric with/without boiler
60th month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB251 1 BOILER DRAIN VALVE
0CK497 1 DOOR GASKET 20 1/1

0CK787

Skyline/Magistar Oven 20 GN 2/1 USA; electric with/without boiler
60th month visit (equivalent to 16000 working hours).
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK494 1 AIR FILTER
0CK523 1 BUSHING
0CK418 1 CLEANING PUMP 220-240V 50/60HZ
0CB251 1 BOILER DRAIN VALVE
0CK548 1 DOOR GASKET 20 2/1

0CK788

Spare Part Kits Catalogue

Maintenance kits

37



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 6 GN 1/1; all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK222 1 OVEN DOOR GASKET; 6 GN 1/1
0CK226 1 AIR FILTER

0CK891

Skyline/Magistar Oven 6 GN 2/1; all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK121 1 OVEN DOOR GASKET; 6 GN 2/1
0CK226 1 AIR FILTER

0CK892

Skyline/Magistar Oven 10 GN 1/1; all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK120 1 OVEN DOOR GASKET; 10 GN 1/1
0CK226 1 AIR FILTER

0CK893

Skyline/Magistar Oven 10 GN 2/1; all models; every 12 months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK223 1 OVEN DOOR GASKET; 10 GN 2/1
0CK226 1 AIR FILTER

0CK894

Skyline/Magistar Oven 20 GRIDS GN 1/1 all models; every 12
months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK497 1 OVEN DOOR GASKET
0CK494 1 FILTER

0CK895

Spare Part Kits Catalogue

Maintenance kits

38



SkyLine Ovens maintenance kits

Code Spare Part Description Picture

Skyline/Magistar Oven 20 GRIDS GN 2/1 all models; every 12
months.
The suggested frequency of substitution is every year according to
an average duty cycle of about 3.200 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0CK548 1 OVEN DOOR GASKET
0CK494 1 FILTER

0CK896

Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Pasta cooker E700 - 24,5lt; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
andon the daily care assured by the user in cleaning, descaling and
operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
054032 1 Pilot burner
052610 1 Spark plug; Ø 6x44 mm
052125 2 Pipe fitting; m10x1; hole Ø 4mm
0C3162 1 Interrupted thermocouple; orkly
053665 1 Double cone; diam.=4mm
052127 1 Double cone; dia 4mm
054037 1 Pilot burner nozzle; n°25.2; gn
054286 1 Pilot burner nozzle; dia 0,25 gpl
054038 1 Pilot nozzle; g45; 2xø=0,45; town gas
0C9240 1 Piezoelectric igniter

0CB450

Spare Part Kits Catalogue

Maintenance kits

39



Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Pasta cooker E700 - 24,5lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit. The 3rd year maintenance Kit includes all the
parts contained into the yearly maintenance Kit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
0C7133 1 Owerflow pipe
0L2728 2 Clamp; 25-40 9mm inox
054032 1 Pilot burner
052610 1 Spark plug; dia 6x44 mm
052125 2 Pipe fitting; m10x1; hole diam.4mm
0C3162 1 Interrupted thermocouple; orkly
053665 1 Double cone; diam.=4mm
052127 1 Double cone; dia 4mm
054037 1 Pilot burner nozzle; n°25.2; GN
054286 1 Pilot burner nozzle; dia 0,25 GPL
054038 2 Pilot nozzle; g45; 2xØ=0,45; town gas
0C9240 1 Piezoelectric igniter

0CB451

Electric Pasta cooker E700 - 24,5lt; every 12 months
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
005010 1 Green pilot lamp assy; round; 230v

0CB452

Electric Pasta cooker E700 - 24,5lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
0C7133 1 Owerflow pipe
0L2728 2 Clamp; 25-40 9mm inox
005010 1 Green pilot lamp assy; round; 230v

0CB453

Spare Part Kits Catalogue

Maintenance kits

40



Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Pasta cooker E700 - 2x24,5lt; every 12 months
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
054032 2 Pilot burner
052610 2 Spark plug; dia 6x44 mm
052125 4 Pipe fitting; m10x1; hole diam.4mm
0C3162 2 Interrupted thermocouple; orkly
053665 2 Double cone; diam.=4mm
052127 2 Double cone; dia 4mm
054037 2 Pilot burner nozzle; n°25.2; gn
054286 2 Pilot burner nozzle; dia 0,25 gpl
054038 2 Pilot nozzle; g45; 2xø=0,45; town gas
0C9240 2 Piezoelectric igniter

0CB454

Gas Pasta cooker E700 - 2x24,5lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit. The 3rd year maintenance Kit includes all the
parts contained into the yearly maintenance Kit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
0C7133 2 Owerflow pipe
0L2728 4 Clamp; 25-40 9mm inox
054032 2 Pilot burner
052610 2 Spark plug; dia 6x44 mm
052125 4 Pipe fitting; m10x1; hole diam.4mm
0C3162 2 Interrupted thermocouple; orkly
053665 2 Double cone; diam.=4mm
052127 2 Double cone; dia 4mm
054037 2 Pilot burner nozzle; n°25.2; GN
054286 2 Pilot burner nozzle; dia 0,25 GPL
054038 2 Pilot nozzle; g45; 2xØ=0,45; town gas
0C9240 2 Piezoelectric igniter

0CB455

Spare Part Kits Catalogue

Maintenance kits

41



Modular Cooking maintenance kits

Code Spare Part Description Picture

Electric Pasta cooker E700 - 2x24,5lt; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
005010 2 Green pilot lamp assy; round; 230v

0CB456

Electric Pasta cooker E700 - 2x24,5lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
0C7133 2 Owerflow pipe
0L2728 4 Clamp; 25-40 9mm inox
005010 2 Green pilot lamp assy; round; 230v

0CB457

Gas Pasta cooker E900 - 40lt; every 12 months
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
054032 1 Pilot burner
052610 1 Spark plug; dia 6x44 mm
052125 2 Pipe fitting; m10x1; hole diam.4mm
0C3162 1 Interrupted thermocouple; orkly
053665 1 Double cone; diam.=4mm
052127 1 Double cone; dia 4mm
054037 1 Pilot burner nozzle; n°25.2; gn
054286 1 Pilot burner nozzle; dia 0,25 gpl
0C9240 1 Piezoelectric igniter

0CB458

Spare Part Kits Catalogue

Maintenance kits

42



Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Pasta cooker E900 - 40lt; every 36 months
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
0C7133 1 Owerflow pipe
0L2728 2 Clamp; 25-40 9mm inox
054032 1 Pilot burner
052610 1 Spark plug; dia 6x44 mm
052125 2 Pipe fitting; m10x1; hole diam.4mm
0C3162 1 Interrupted thermocouple; orkly
053665 1 Double cone; diam.=4mm
052127 1 Double cone; dia 4mm
054037 1 Pilot burner nozzle; n°25.2; GN
054286 1 Pilot burner nozzle; dia 0,25 GPL
0C9240 1 Piezoelectric igniter

0CB459

Electric Pasta cooker E900 - 40lt; every 12 months
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp

0CB460

Electric Pasta cooker E900 - 40lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 1 Washer; silicone
0C9635 1 Ball valve; 3/8”
0C8993 1 Lock nut; 3/8”; sp.6mm
049888 1 Hose clamp
0C7133 1 Owerflow pipe
0L2728 2 Clamp; 25-40 9mm inox

0CB461

Spare Part Kits Catalogue

Maintenance kits

43



Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Pasta cooker E900 - 2x40lt; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
054032 2 Pilot burner
052610 2 Spark plug; dia 6x44 mm
052125 4 Pipe fitting; m10x1; hole diam.4mm
0C3162 2 Interrupted thermocouple; orkly
053665 2 Double cone; diam.=4mm
052127 2 Double cone; dia 4mm
054037 2 Pilot burner nozzle; n°25.2; gn
054286 2 Pilot burner nozzle; dia 0,25 gpl
0C9240 2 Piezoelectric igniter

0CB462

Gas Pasta cooker E900 - 2x40lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
0C7133 2 Owerflow pipe
0L2728 4 Clamp; 25-40 9mm inox
054032 2 Pilot burner
052610 2 Spark plug; dia 6x44 mm
052125 4 Pipe fitting; m10x1; hole diam.4mm
0C3162 2 Interrupted thermocouple; orkly
053665 2 Double cone; diam.=4mm
052127 2 Double cone; dia 4mm
054037 2 Pilot burner nozzle; n°25.2; GN
054286 2 Pilot burner nozzle; dia 0,25 GPL
0C9240 2 Piezoelectric igniter

0CB463

Electric Pasta cooker - E900 2x40lt; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp

0CB464

Spare Part Kits Catalogue

Maintenance kits

44



Modular Cooking maintenance kits

Code Spare Part Description Picture

Electric Pasta cooker - E900 2x40lt; every 36 month
The suggested frequency of substitution is every three years
according to an average duty cycle of about 3 services/day
(breakfast/lunch/dinner) 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning, descaling
and operaing the unit. The 3rd year maintenance Kit includes all the
parts contained into the yearly maintenance Kit.

Code Qt. List of contents
0C6171 2 Washer; silicone
0C9635 2 Ball valve; 3/8”
0C8993 2 Lock nut; 3/8”; sp.6mm
049888 2 Hose clamp
0C7133 2 Owerflow pipe
0L2728 4 Clamp; 25-40 9mm inox

0CB465

Gas Fryer E700/E900 - 15lt; every 12 month The suggested
frequency of substitution is every year according to an average
duty cycle of about 8 hours/day 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning and operaing
the unit.

Code Qt. List of contents
057960 1 PIPE FITTING; SPARK PLUG
059293 1 O-RING; ØI=3,68X1,78 MM
059295 1 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY
0C3162 1 INTERRUPTED THERMOCOUPLE; ORKLY 16400-35
0C7141 1 SPARK PLUG ELECTRODE
0C7190 1 IGNITION CABLE; L=1550MM DIA.4MM

0CB467

Gas Fryer E700/E900 - 2x15lt; every 12 month The suggested
frequency of substitution is every year according to an average
duty cycle of about 8 hours/day 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning and operaing
the unit.

Code Qt. List of contents
057960 2 PIPE FITTING; SPARK PLUG
059293 2 O-RING; ØI=3,68X1,78 MM
059295 2 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY
0C3162 2 INTERRUPTED THERMOCOUPLE; ORKLY 16400-35
0C7141 2 SPARK PLUG ELECTRODE
0C7190 2 IGNITION CABLE; L=1550MM DIA.4MM

0CB468

Spare Part Kits Catalogue

Maintenance kits

45



Modular Cooking maintenance kits

Code Spare Part Description Picture

Gas Fryer E900 - 23lt; every 12 month The suggested frequency of
substitution is every year according to an average duty cycle of
about 8 hours/day 350 days/year. The frequency may increase or
decrease depending on the heavier or lighter duty cycle and on the
daily care assured by the user in cleaning and operaing the unit.

Code Qt. List of contents
052610 1 SPARK PLUG; DIA 6X44 MM
057960 1 PIPE FITTING; SPARK PLUG
059293 1 O-RING; ØI=3,68X1,78 MM
0C59295 1 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY
0C3162 1 INTERRUPTED THERMOCOUPLE; ORKLY 16400-35
0C7190 1 IGNITION CABLE; L=1550MM DIA.4MM

0CB469

Gas Fryer E900 - 2x23lt; every 12 month The suggested frequency of
substitution is every year according to an average duty cycle of
about 8 hours/day 350 days/year. The frequency may increase or
decrease depending on the heavier or lighter duty cycle and on the
daily care assured by the user in cleaning and operaing the unit.

Code Qt. List of contents
052610 2 SPARK PLUG; DIA 6X44 MM
057960 2 PIPE FITTING; SPARK PLUG
059293 2 O-RING; ØI=3,68X1,78 MM
0C59295 2 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY
0C3162 2 INTERRUPTED THERMOCOUPLE; ORKLY 16400-35
0C7190 2 IGNITION CABLE; L=1550MM DIA.4MM

0CB470

Electric Fryer E700/900 - 15/23lt; every 12 month The suggested
frequency of substitution is every year according to an average
duty cycle of about 8 hours/day 350 days/year. The frequency may
increase or decrease depending on the heavier or lighter duty cycle
and on the daily care assured by the user in cleaning and operaing
the unit.

Code Qt. List of contents
005010 1 GREEN PILOT LAMP ASSY; ROUND; 230V
059293 1 O-RING; ØI=3,68X1,78 MM
059295 1 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY

0CB471

EL Fryer maintenance; KIT; 2X15/23LT E700/900; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 8 hours/day 350 days/year. The
frequency may increase or decrease depending on the heavier or
lighter duty cycle and on the daily care assured by the user in
cleaning and operaing the unit.

Code Qt. List of contents
005010 2 GREEN PILOT LAMP ASSY; ROUND; 230V
059293 2 O-RING; ØI=3,68X1,78 MM
059295 2 FITTING; PROBE SUPPORT; ØI= 4MM
0C2496 1 GASKET; CONTROL PANEL; BY METER; GREY

0CB472

Spare Part Kits Catalogue

Maintenance kits

46



SpeeDelight maintenance kits

Code Spare Part Description Picture

SpeeDelight & SpeeDelight Flex; every 12 month
SpeeDelight - all types
The suggested frequency of substitution is the first, the third, the fifth
year according to an average duty cycle of about 65.000 cycles
per year. The frequency may increase or decrease depending on
the higher or lower number of microwaves cooking cycles and on
the daily care assured by the user in cleaning and operaing the unit.

Code Qt. List of contents
0CA696 2 Front dust filters
0CB089 1 Choke cover kit

0CB419

SpeeDelight; every 24 month
SpeeDelight - all types except Flex
The suggested frequency of substitution is the second, the fourth,
the sixth year according to an average duty cycle of about
65.000cycles per year. The frequency may increase or decrease
depending on the higher or lower number of microwaves cooking
cycles and on the daily care assured by the user in cleaning and
operaing the unit.

Code Qt. List of contents
0CA809 1 Microwave gasket
0CB089 1 Choke cover kit
0CA696 2 Front dust filters
0C8133 2 Washers for microwaves

0CB420

SpeeDelight Flex; every 24 month or 130.000 cycles
SpeeDelight - Flex
The frequency may increase or decrease depending on the higher
or lower number of microwaves cooking cycles and on the daily
care assured by the user in cleaning and operating the unit.

Code Qt. List of contents
0CA809 1 Microwave gasket
0CB089 1 Choke cover kit
0CA696 2 Front dust filters
0C8133 2 Washers for microwaves
0CB047 1 Upper plate locking latch (only for units with flex)
0CB050 1 Locking latch guide (only for units with flex)

0CB421

SpeeDelight & SpeeDelight Flex; every 6 month, 18 month, 30
month, 42 month and 54 month
SpeeDelight - Flex
The frequency may increase or decrease depending on the higher
or lower number of microwaves cooking cycles and on the daily
care assured by the user in cleaning and operating the unit.

Code Qt. List of contents
0C8166 4 Transversal bars, choke cover Kit
0CB066 1 Red silicon 736; 90 ml cartridge
0CB076 14 Set of rivets

0CB410

SpeeDelight Tray & SpeeDelight Tray Flex; every 12 month.
The frequency may increase or decrease depending on the higher
or lower number of microwaves cooking cycles and on the daily
care assured by the user in cleaning and operating the unit.

Code Qt. List of contents
0CA696 2 FILTER; 128X53X10MM; HPSE

0CBAEW

Spare Part Kits Catalogue

Maintenance kits

47



SpeeDelight maintenance kits

Code Spare Part Description Picture

SpeeDelight Tray; every 24 month.
The frequency may increase or decrease depending on the higher
or lower number of microwaves cooking cycles and on the daily
care assured by the user in cleaning and operating the unit.

Code Qt. List of contents
0CA696 2 FILTER; 128X53X10MM; HPSE
0C8133 2 WASHER; 7X20X2
0CA809 1 TUBE GASKET; UPPER PLATE; HSPE

0CBAEX

SpeeDelight Tray Flex; every 24 month.
The frequency may increase or decrease depending on the higher
or lower number of microwaves cooking cycles and on the daily
care assured by the user in cleaning and operating the unit.

Code Qt. List of contents
0CA696 2 FILTER; 128X53X10MM; HPSE
0C8133 2 WASHER; 7X20X2
0CA809 1 TUBE GASKET; UPPER PLATE; HSPE
0CB047 1 FLEX CATCH; HSPE
0CB050 1 FLEX BUSHING SET 2PCS; HSPE

0CBAEY

Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - gas 6 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user incleaning, descaling and
operaing the unit.

Code Qt. List of contents
002626 1 LAMP HOLDER GASKET
0C1496 1 DOOR GASKET; 475X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 1 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 1 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAGW

Spare Part Kits Catalogue

Maintenance kits

48



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - electric 6 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 1 LAMP HOLDER GASKET
0C1496 1 DOOR GASKET; 475X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 1 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 1 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAGY

AOS Oven - gas 6 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 1 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1496 1 DOOR GASKET; 475X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 1 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 1 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAGX

Spare Part Kits Catalogue

Maintenance kits

49



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - electric 6 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 1 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1496 1 DOOR GASKET; 475X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 1 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 1 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAGZ

AOS Oven - gas 10 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
0C1477 1 DOOR GASKET; 725X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAH0

AOS Oven - electric 10 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
0C1477 1 DOOR GASKET; 725X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAH2

Spare Part Kits Catalogue

Maintenance kits

50



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - gas 10 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1477 1 DOOR GASKET; 725X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH1

AOS Oven - electric 10 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1477 1 DOOR GASKET; 725X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH3

Spare Part Kits Catalogue

Maintenance kits

51



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - gas 10 GN 2/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
0C1887 1 DOOR GASKET; 725X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAH4

AOS Oven - electric 10 GN2/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/ combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
0C1887 1 DOOR GASKET; 725X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAH6

AOS Oven - gas 10 GN 2/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1887 1 DOOR GASKET; 725X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH5

Spare Part Kits Catalogue

Maintenance kits

52



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - electric 10 GN 2/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 2 LAMP HOLDER GASKET
002699 1 BEARING; FOR MOTOR SHAFT
002873 1 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1887 1 DOOR GASKET; 725X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 2 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0C9992 1 CONTROL PANEL FILTER; L=417MM
0CB661 2 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH7

AOS Oven - gas 20 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
0C1473 1 OVEN GASKET; 1438X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0CB661 3 HALOGEN LAMP
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAIE

AOS Oven - electric 20 GN 1/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
0C1473 1 OVEN GASKET; 1438X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0CB661 3 HALOGEN LAMP
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAIC

Spare Part Kits Catalogue

Maintenance kits

53



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - gas 20 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
002699 2 BEARING; FOR MOTOR SHAFT
002873 2 O-RING; ØI=MM.28,17X3,53
0C1473 1 OVEN GASKET; 1438X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0C6450 1 O-RING; DIA.40,87X3,53
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0CB661 3 HALOGEN LAMP
0C9991 1 CONTROL PANEL FILTER; L=315MM
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAIA

AOS Oven - electric 20 GN 1/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
002699 2 BEARING; FOR MOTOR SHAFT
002873 2 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1473 1 OVEN GASKET; 1438X450MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0C9991 1 CONTROL PANEL FILTER; L=315MM
0CB661 3 HALOGEN LAMP; 12V 10W G4
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH8

Spare Part Kits Catalogue

Maintenance kits

54



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - gas 20 GN 2/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
0C1889 1 DOOR GASKET; 1438X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0CB661 3 HALOGEN LAMP
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAIF

AOS Oven - electric 20 GN 2/1; every 6 month
The suggested frequency of substitution is every six months
according to an average duty cycle of about 2.800 hours per year.
The frequency may increase or decrease depending on the higher
or lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
0C1889 1 DOOR GASKET; 1438X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0CB661 3 HALOGEN LAMP
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU

0CBAID

AOS Oven - gas 20 GN 2/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
002699 2 BEARING; FOR MOTOR SHAFT
002873 2 O-RING; ØI=MM.28,17X3,53
0C1889 1 DOOR GASKET; 1438X630MM
0C3128 1 O-RING; 153-VITON 49.2*3.53
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0CB661 3 HALOGEN LAMP
0C9992 1 CONTROL PANEL FILTER; L=417MM
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAIB

Spare Part Kits Catalogue

Maintenance kits

55



Ovens maintenance kits

Code Spare Part Description Picture

AOS Oven - electric 20 GN 2/1; every 12 month
The suggested frequency of substitution is every year according to
an average duty cycle of about 2.800 hours per year. The
frequency may increase or decrease depending on the higher or
lower number of cooking hours/types (convection/combi/steam)
and on the daily care assured by the user in cleaning, descaling
and operaing the unit.

Code Qt. List of contents
002626 3 LAMP HOLDER GASKET
002699 2 BEARING; FOR MOTOR SHAFT
002873 2 O-RING; ØI=MM.28,17X3,53
002874 1 O-RING; ØI=31,34X3,53 MM
0C1889 1 DOOR GASKET; 1438X630MM
0C4088 1 GASKET
0C4093 1 GASKET
0C5451 3 LAMP HOLDER GASKET
0C7033 1 GASKET (FOR AIRBREAK INSPECTION COVER)
0CB661 3 HALOGEN LAMP
0C9992 1 CONTROL PANEL FILTER; L=417MM
0Q0006 1 FEMALE FASTON; 6,3X0,8 SET 12PZ; BLU
002692 1 CAP; DESCALING LOAD IN THE BOILER
0C7016 1 GASKET; ØE=74MM; ØI=17MM; H=12,5MM

0CBAH9

Vacuum Machines maintenance kits

Code Spare Part Description Picture

kit maintenance 1st level evp08-dvp08:
-oil pump orv40 250ml
- minor kit for vacuum pump lb8 / lc12 / la12 (oil separator filter)
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420

0PRRVV

kit maintenance 2nd level evp08-dvp08:
-oil pump orv40 250ml pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt2
-kit minor for vacuum pump lb8 / lc12 / la12 (oil separator filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.1
-bar sald. compl. 319x30x20 c308 / c310 / c312 / idea30 / 31/32 pz1

0PRRVW

kit maintenance 1st level evp12d-dvp12d:
-oil pump orv40 500ml pcs.1
-kit minor for vacuum pump lb8 / lc12 / la12 (oil separator filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f42

0PRRVX

Spare Part Kits Catalogue

Maintenance kits

56



Vacuum Machines maintenance kits

Code Spare Part Description Picture

kit maintenance 2nd level evp12d-dvp12d:
-oil pump orv40 500ml pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt2
-kit minor for vacuum pump lb8 / lc12 / la12 (oil separator filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.1
-bar sald. compl. 319x30x20 c308 / c310 / c312 / idea30 / 31/32 pz1

0PRRVY

kit maintenance 1st level evp16d-dvp16d:
180 / 5.000
risultati della traduzione
-oil pump orv40 500ml pcs.1
-kit minor for vacuum pump md16 / lc25 (k1000040) (oil separator
filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420

0PRRVZ

kit maintenance 2nd level evp16d-dvp16d:
324 / 5.000
risultati della traduzione
-oil pump orv40 500ml pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt2
-kit minor for vacuum pump md16 / lc25 (k1000040) (oil separator
filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.1
-bar sald. compl. 421x30x20 c412 / c420 / idea40 / 41/42 pz. 1

0PRRW0

kit maintenance 1st level evp20t-dvp20t:
-oil pump orv40 500ml pcs.1
-kit minor lb18 / lc20- lb25 / la20 (k1000038) (oil separator filter) pcs
1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420

0PRRW1

kit maintenance 2nd level evp20t-dvp20t:
-oil pump orv40 500ml pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt2
-kit minor lb18 / lc20- lb25 / la20 (k1000038) (oil separator filter) pcs
1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.1
-bar sald. compl. 421x30x20 c412 / c420 / idea40 / 41/42 pz. 1

0PRRW2

kit maintenance 1st level evp25a-dvp25a:
- orv60 pump oil 1,5l pcs.1
-kit minor for vacuum pump md16 / lc25 (k1000040) (oil separator
filter) pcs 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420

0PRRW3

kit maintenance 2nd level evp25a-dvp25a:
- orv60 pump oil 1,5l pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt2
-kit minor for vacuum pump md16 / lc25 (k1000040) (oil separator
filter) pcs 1
-resist.nicr 5.00x0.30 din125 rounded mc / vm14 / vm98 / evox mt.1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.1

0PRRW4

Spare Part Kits Catalogue

Maintenance kits

57



Vacuum Machines maintenance kits

Code Spare Part Description Picture

kit maintenance 1st level evp60a-dvp60a:
-oil pump orv60 1 + 1l pcs.1
- oil dispenser filter for vacuum pump lb60 / lc60 vm19 / 20/1800
pcs. 1
- pump oil filter 60/151 m³ / h pcs.1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420

0PRRW5

kit maintenance 2nd level evp60a-dvp60a:
-oil pump orv60 1 + 1l pcs.1
- lip cover gasket mc orv.std food silicone sr-50 / t black l7mm mt3
- pump oil filter 60/151 m³ / h pcs.1
- oil dispenser filter for vacuum pump lb60 / lc60 vm19 / 20/1800
pcs. 1
-teflon zone tape adhesive cover 65mm mc / new / vacuum2010 /
400g-dg / vm98 / f420 mt.2
-resist.nicr 5.00x0.30 din125 rounded mc / vm14 / vm98 / evox mt.2

0PRRW6

Spare Part Kits Catalogue

Maintenance kits

58



Refreshing kits for Washing Machines

Code Spare Part Description Picture

Refreshing kit for models
W365H/W375H/W465H/W475H/W565H/W575HPNC

Code Qt. List of contents
432184005 0W7092 1 Door gasket
472991308 0W2295 1 Shock absorber kit / 4pcs
472995403 0W1WG8 1 Detergent container

0W7S66
432731160

Refreshing kit for models W3130H/W4130H/W5130HPNC

Code Qt. List of contents
432184205 0W152F 1 Door gasket
472991309 0W2387 1 Shock absorber kit /4pcs
472991311 0W2328 1 Shock absorber kit /2pcs
472995403 0W1WG8 1 Detergent container

0W7S67
432731161

Refreshing kit for model W3240HPNC Code Qt.

Code Qt. List of contents
432184305 0W1533 1 Door gasket
472991310 0W2327 1 Shock absorber kit /8pcs
472991308 0W2295 1 Shock absorber kit /4pcs
472995403 0W1WG8 1 Detergent container

0W7S7A
432731163

Refreshing kit for model W3180HPNC

Code Qt. List of contents
432184305 0W1533 1 Door gasket
472991310 0W2327 1 Shock absorber kit /8pcs
472991311 0W2328 1 Shock absorber kit /2pcs
472995403 0W1WG8 1 Detergent container

0W7S7C
432731165

Refreshing kit for model W355HPNC

Code Qt. List of contents
438505201 0E1677 1 Gasket
472990125 0E1669 1 Shock absorber kit /4pcs
438506802 0E3528 1 Detergent container

0W7S7G
432731169

Refreshing kit for models W455H/W555H

PNC Code Qt. List of contents
432633305 0W7JJ8 1 Door gasket
472990125 0E1669 1 Shock absorber kit /4pcs
432636152 0W22F8 1 Detergent container

0W7S7H
432731170

Spare Part Kits Catalogue

Refreshing kits

59



Refreshing kits for Tumble Dryers

Code Spare Part Description Picture

Refreshing kit for model T3190

PNC Code Qt. List of contents
487041106 0W6918 1 Seal
490431501 0W7PJQ 1 Support roller complete
487197388 0HM950 1 Filter with brush

0W7S68
432731162

Refreshing kit for model T3530

PNC Code Qt. List of contents
487221931 0W2493 1 Door gasket
487169515 0W0604 1 Filter

0W7S7B
432731164

Refreshing kit for model T4250

PNC Code Qt. List of contents
487220031 0W2465 1 Door gasket
490388701 0W1WNX 1 Filter
487137603 072043 2 Support roller

0W7S7D
432731166

Refreshing kit for model T4190

PNC Code Qt. List of contents
487041106 0W6918 1 Seal
490431501 0W7PJQ 1 Support roller complete
487041108 0W5083 1 Filter

0W7S7E
432731167

Refreshing kit for model T3250

PNC Code Qt. List of contents
487220031 0W2465 1 Door gasket
487137607 0W3509 2 Support roller
487231673 0W2361 1 Filter

0W7S7F
432731168

Refreshing kit for models T2130/T4130/T5130

PNC Code Qt. List of contents
128000060 0E1864 1 Felt sealing
490509701 0W708N 2 Support roller
490408002 0W23EH 1 Filter

0W7S7I
432731171

Spare Part Kits Catalogue

Refreshing kits

60





Excellence is central to everything we do. 
By anticipating our customers’ needs, we strive for 
Excellence with our people, innovations, solutions and services.
To be the OnE making our customers’ work-life easier, 
more profitable – and truly sustainable every day.

Th
e 

C
o

m
p

a
ny

 re
se

rv
es

 th
e 

rig
ht

 to
 c

ha
ng

e 
sp

ec
ifi

ca
tio

ns
 w

ith
o

ut
 n

o
tic

e.
 P

ic
tu

re
s 

a
re

 n
o

t c
o

nt
ra

ct
ua

l.

Follow us on

www.electroluxprofessional.com

Excellence
with the environment in mind

All our factories are ISO 14001-certified

All our solutions are designed for low consumption 
of water, energy, detergents and harmful emissions

In recent years over 70% of our product features have been
updated with the environmental needs of our customers in mind

Our technology is RoHS and REACH compliant
and over 95% recyclable

 Our products are 100% quality tested by experts


